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507-Labour Legislations — 3

March 2019 Semester —4 Exam 70 Marks
Q.1.(A) Under The Payment of Wages Act, which is the provision for unpaid (14)
wages for a group? What are the penalty for offences under the Act?
OR

Q.1.(A) What are objectives and Applicability of Equal Remuneration Act? What (14)
is the role of Advisory Committee in this Act? :

Q.1.(B) (Any 4 outof 6) (4)
1. What is eligibility‘ﬁ)\f Payment of Bonus Act?
il What is the minimum and maximum bonus payable under the Act?
iil. What are the Central current minimum wages?
iv. What is ‘wage period’?
V. What is ‘Set on’ and ‘Set off”?
Q.2.(A) What are the compliances the contractor has to do under The Contract (14)
Labour Act 19707
OR
Q.2.(A) What are the points to be included in the standing orders? (14)
Q.2.(B) (Any 4 outof5) : (4)
S to sign leave application, gate pass etc for contract employees.
i. Rules regarding modification of standing orders.
iii. Where should the Internal Complaints Committee be located as per Sexual
Harassment Of Women At Workplace Act?
iv. What is the penalty for non-compliance with provisions of Sexual
Harassment Of Women At Workplace Act?
A How to get registration certificate under The Contract Labour Act?
Q.3.(A) Explain in brief various provisions of the Apprentice Act, 1961. (14)
OR
Q.3.(A) What are the provision as to Health And Safety under The Mines Act, (14)
1952 '
Q.3.(B) (Any3outof5) (3)
i. Registration Of Plantations, under The Plantations Labour Act, 1951
ii. Give definition of 'unskilled office work' under the Employment Exchange
Act, 1959.
1ii. Explain in brief - Objective of the Employment Exchange Act, 1959.
iv. Canteens, under The Plantations Labour Act, 1951
v. Duties of Certifying Surgeon under the Mines Act
Q.4.(A) Discuss the case of Francis De Costa vs The Regional Director, E.S1 (14)
Corporation stady in detail
- OR
Q. 4.(A) Describe the liabilities of the employer’s when contractor is engaged (14)
under Emplojzeef{ompensation fgct)l 923
Q.4.(B) (Any3outof3) 3
1. Among the following matter matters are not prevailing under

O



ii.

i.

iv.

= 1902 g

the jurisdiction of labour commissioner under employee compensation act
1923

A) liability of any person to pay compensation

B) Appointment of a substitute employee

C) The nature and extent of disablement supetvision
D) the amount or duration of compensation

Within number of days should an appefﬂ be filed to the high
court as per the Employee’s compensation Act 1923

A) within 15days of order being passed
B) within 20days of order being passed
C) within 45 days of order being passed
D) within 60days of order being passed

From the 1st April 2019 ESIC contribution will be

A)4.0 from employer and 1.0 from employee

B) 4.55 from employer and 1.55 from employee
C) 4.65 from employer and 1.65 from employee
D) 4.75 from employer and 1.75 from employee

An injury implies psychological or bodily injury caused by an accident,
with the effect of nervous shock or break down or mental strain is known
as :

1) Psychological injuries
2) Personal Injuries

3) Physical injuries

4) Partial injuries

age for female and age for male is decided for
the enrolment under ESIC ACT 1948.

1) 18 and 18
2) 18 and 22
3) 21 and 21
4) 18 and 20
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PAPER — 508 STRATEGIC HUMAN RESOURCE MANAGEMENT

March — 2019 , Total Marls: 76
Q-1 (A) Discuss how the ficld of HRM undergone transformation in its scope, (14;
functions & activities over the years.
OR
(A) How is traditional HRM different from strategic HRM? {14}
(B)  [Answer any four briefly] 4)

(i) What is a strategy?

(i1) What are the goals of sirategic Human Resource Management?
{Any Two) ‘

(iii)  What do you mean by proactive HR strategy?

(iv)  What is competitive advantage?

(v)  What was the period of economic liberalisation &

‘ Globalisation?
Q-2 (A) Discuss foundations of strategic HRM. : (14;
OR
(A) Discuss impact of strategic HRM. 4
(B)  Answer in brief (any 4) (4

(i) What is strategic fit?

(i)  What is contingency model of SHRM?

(iii) ~ What is Behavioural perspective of SHRM?

(iv)  What is Human Capital theory? o

(v) “People are viewed as investment in SHRM”. - ‘True or False

0-3 (A) Whatare general and specific HR strategies? Explain with illustrations. (14)
' OR
(A) What is knowledge Management? What are the different approaches to (14)

knowledge Management? Explain with the help of different types of
knowledge and how it is used in an organisation
(B) Explain the Concepts: (Any 3) 3
(i) Data and Information '
(i)  Knowledge workers
(iiiy  Social Capital and intellectual Capital
(iv)  Balanced Scorecard _
(v} Human Capital measurement.
Q-4 (A) Discuss what is Diversity Management. What is a strategic diversity (14;
management plan? Discussits advantages. '
OR
(A) Define work life balance. What are the causes of imbalance in work ~ life? (14}
Explain any one theory related to work life balance.
(B) Discuss any 3 in brief: €}
1 Group cohesiveness
(i)  Rational Argument for CSR
(iii)  Carroll’s model of Types of CSR
(iv)  Employee Relations Climate.
(v) Benefits of Good Employee Relations






ey /38
MLL.W. (Sem.-4). Examination
509
Labour Legislations-4
Time : 2-30 Hours] April 2019
() B uyR MR slaetdla 2agl g B
At
Yo @l) uyet Aetopetl UBRA R As ol vl
Yot (ell)  siuel et Wy |
I AUANBA As2R abdl ARac Ryl Ase, 2008 o Graell 3 87
i UWIN 9 B2
i UABA slelse e B
v
‘Aelot SLHLER' Sl 5dala B?
Y2 () eyl (uRoiy el Rasy ey Gl g B UL 360t Esofl el
¥Rk,
ued
Y2 (B (ool Hos wed serpselel abil Ase 1996 Yorod, ctew e[, 0au 5i§ wa
ctteltell dAly A B ustot Hydlell dluelal etote $.12, 13 Aa 14 o
Hoifdld Aotaesl 565 &2
W2 (efl) 8l ugl 2 ol wellol 2l
I WA 21 S B?
i G{ELRC UoR UME I U0,
il Bo2R22 HBUe2 clbNot (AwalRell Man wA ciiel]l eRel) auliern, 1979
da01 Y12l 2o,
iv. AR 5252 HE WG 58 D7
W3R slidrnfla s 9e) el tettctani wR Aot e wld &7
uedl
U3 () et uEsde] ARs dvel uR As ol ¢ull
w3 ell) a4 uelfisug 2

VIUV4 KO0 2 Candidate’s Seat No :

glBALA 3 9 B2
Uleld, 05l Baa s vidclsel sl wd 87
AR 2 wRAL 9 B2

LY

1y

1%

Y

Y

[Max. Marks : 70

P T 0.



60002*3\

acd s wllSlesRast o A sl el

Blozise Qe Uell W5 AR WELAdel YSIERI Al 530

viglall .
RosulyFlz w. YRastallgsBall, DUSuR 1984 A Al dute] aglot
53 wal YUluslea Ysiet i3 uAul s,

¢ igll 8\ weL 3

sa3ua UARee Ralalet B «F13 sloniaiul wid 82

saL 31 ARG A Ay AavaHl wid 82

Ao all, W3R, dRetoll grizioll BIR, sioll il wd AsiAet Be
Caivl @ 2iseslo 2w, Hoedoll stoiloldl 22 HidleBlsl yelot 53 B2

¥

¥



= 0002

/049 —Labour Legislation — 4

March 2019 Semester —4 Exam 70 Marks
Q.1. (A)  What are the legislative protection for the unorganized labour? (14)
OR
Q.1. (A)  Write a note on Arjun Sengupta Commitiee. (14)
(Any 2 out of 4) (4

QL. ®)

i
it.
ii.

Q2.(A)

Q.2.(A)

Q.2 (B)

ii.
iii.

iv.
Q.3. (A)
Q.3. (A)
Q. 3: (B)

i

iii.
iv.

What are the objectives of Unorganized Sector Workers Social Security
Act,20087

What is UWIN?

Who is an unorganized worker?

Who is considered ‘wage worker’?

What are the Objectives of The Child Labour (Prohibition And Regulation) (14)
Act. State the Penalties clauses under the Act.

: OR
As per Building And Other Construction Workers Act 1996, what are the (14)
provisions relating to s.12, 13 and 14, relating to registration of building
workers as beneficiaries, identity cards and cessation as a beneficiary?

(Any 2 out of 4) - {4)
Who is bonded Labour?

Punishment for employing bonded labour.

Duties of contractors undet The Inter-State Migrant Workmen (Regulation

Of Employment And Conditions Of Service) Act, 1979,

What is a Pass Book for a migrant worker?

How are International labour standards created and adopted? (14)
‘ OR

Write a note on ‘The Universal Declaration of Human Rights’ (14)

(Any 2 out of 4) (3)

What is Forced labour?

When is human right day observed?

What are Barriers to Trade? ,

Write any two functions of World Trade Organization?



Q.4. (A)

Q.4.(A)

Q. 4. (B)

ii.
ii.

E 000l

Discuss an important supreme court judgement on Contract Labour. (14)
-~ OR

Describe the ‘Bandhua Mukti Morcha v. Union of India, AIR 1984 SC’ case  (14)

and discuss the judgement of Supreme court.

{Any 3 out of 4) 3)
Which case is known as Pavement dwellers case?
Which case is known as Asiad case?

MC Mehta vs State of Tamil Nadu case, is connected with which problem of
labour?

Vishakha vs State of Rajasthan, provides guidelines for which matters?



3 /38

Time : 2-30¢ Hours|

AN

UL ()

Y (¢

= e W oA o

R (M)

U2 ()
YR (o)

s o W oA

Y3 ()

U3 ()
U3 («)

o W A

0204E00 17 Candidate’s Seat No

M.L.W. (Sem.-4) Examination
510
Organisational Behaviour-2
April 2019

- e v Al v

clciBL(Attitude) it St2lloll Ul 521

RTCCT
yell Aol yeellott YstAell ul 5

o1 eaf et WA oll EsML wellol B (SLEUGL AR)
HleUcll Bled Y?

Qauy Aed g2 \

Alsurl & BoNead HERIl ot ol weuel.

2ot el Wed 4?

el ofl caval wdl

Yeeuoll(Motivation) ulauell uxl s

| vl
Nacllelt V20Ul (Motivation) Rigldsll 2l 521
A calAd Yl ot &5HL wetol AL (BlEUgL UR)
siaudl Bedlcilod Med 2 |
G ueaiel Rela Aed g2

ERG 6£oll w2 A2 ol ERGell Rgict 1l g 82

X oll Rgict v Y oll Rglct ol mpeell?
VIE 26€all w8 guoll uelslt Redct 1l ¢ 87

collel(Stress)ell Al A 521
Bl
doitel Reritell cfe Usil %Gl
A2 safdet yA ol 25uioyclol UL (BlEugt ARl
ctoltel ofl catpvlt vudl
acl WUHREAL (Self- efficacy)ed §?
Wol@s Hesoll S (Psychological hardiness) 2@ 9?
2ABU-A UstRell citel@sdl g 82

[Max. Marks : 70

1¥

¥

1¥

1¥

Y

1Y



Yy ()

Y ()
yy (ol)

o;wm

Q1(A)
Qi(A)

Q1(B)

U o 9 b e

Q2(A)

Q2(A)
Q2(B)

U B DD

Q3
Q3(A)

Q3(B)

P o b bt

E(D@l%}wz

el (CONFLICT) @AY el ul 5

il
Ay A AURBYCONFLICT RESOLUTION) ol w2l s
A3 e20dct usl oll &5ML eitel WL (Sleugl 2y
dudoll s @3 weud
cletile (NEGOTIATION) A2@ 42
dad awaa o w@otu Az Y7

sictecl AL A(INTERPERSONAL) ettt A5 alaL (@9l sl
English Version

Discuss the functions of Attitude
OR

Discuss values and its type

Auswer in one or two lines {(any four)
What is belief?

What is trust?

Name two instrumental values

What is Terminal value?

Define atiiiude

Explain the process of motivation?

: OR
Discuss the Maslow theory of Motivation

Answer in one or two lines (any five)

What is employee involvement

What is the theory of high expectation

What does ERG stand for in Aldefer’s ERG theory
Who gave the theory X and theory Y?

What does VIE stand for in Vroonsexpectancy theory

Explain the sources of stress
' OR
What the coping strategy of Stress

Answer in one or two lines (any three)
Define the Stress

What is Self-efficacy

What is Psychological hardiness?
What is type-A characteristics?
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14

14

14

14

14
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Q4 (A)

Q4 (4)

Q4 (B)
1

F06o]F-3

Discuss the level of Conflict 14
' OR

Discuss Conflict Resolution 14

Answer in one or two lines (any three) 3

What is type of conflict 2,

‘What is negotiation 7.

What is approach - avoidance conflict /-
Mention one source of interpersonal conflict







